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1. Find the average value of g(z) = |z| — 1 on [—1, 3]. Answer :
2. Find / zsec® ¢ dz. Answer :

2 1
3. Evaluate / / ye’a dzdy. Answer :
0 Jy/2

2sin®z
4. Find the values of ¢ and b that makes the function f(z) = z
ar +bcosz, ifz <0

, ifz >0

differentiable at z = 0. Answer :
5. Find the tangent line to the curve z%cos®y —siny = 0 at (0,7). Answer :

6. Find the volume of the solid obtained by revolving the region bounded by the curves
y = —z% + 4z and y = % about the z-axis. Answer :

7. Evaluate lim (sinz)®. Answer :
z—0t

In(1+ 2)

Inn)ln(n+ 1) Answer :

8. Find the sum of the series Z (
n=3
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1. An open rectangular box is to be constructed from material that costs $3/ft* for the

bottom ard $ 1/ft? for its sides. Find the dimensions of the box of greatest volume that can

be constructed for $ 36.

2. Use the limit definition to show that ¢’(0) exists butg’(0) # hl’% ¢'(z), where
T

mzsin%, ifx#0

g(z) =
0, ifx=0.

3. Determine if the series converges or diverges.
oo

= 1
a. (6 o) 5 e b. (6 %) 5 sin —
n




